R&R Ges. fir Rationalisierung und Rechentechnik mbH

:

™
R&R MONITOR LIFT ML103-01
Travel approx. 560 mm (longer travel on request)
Dimensions Approx. 365 x 131,5 x 733 mm (without monitor support)
Drawing DNR21589, DNR21621
Weight approx. 15.4kg (as shown above),
approx. 12kg without bracket
Power supply Max. 60W, 115V 50-800Hz
Top position 2 x adjustable stop pieces + 2 x micro-switches
Bottom position 2 x adjustable stop pieces + 2 x micro-switches
Monitor support structure DNR 21422 (weight approx. 3.3kQ)
Approx.
Distance piece 20mm
40mm (weight approx. 0.3kg)
options customized support structures, VESA mount, ...
Carriage weight approx. 5kg
Weight compensation 2 x 138N L#16297
through spring balancers 2 x 103N L#16295
2x 80N L#16293
Overall weight as shown above Approx. 15,4kg
Deployed position 2 x adjustable spring roller catches
Stowed position 2 x electromechanical spring locks with micro-switches
manual release
customs tariff: 84289090
Ob der Eck 4- D-78148 Gitenbach - Telefon (07723) 9186-0 - Telefax (07723)9186-30 1/15

DNR21606.DOC REV.01 ML103-01 MONITOR LIFT
06.10.2014 WWW.RURGMBH.DE INFO@RURGMBH.DE




R&R Ges. fir Rationalisierung und Rechentechnik mbH

ML103-01 front view deployed

Pivot Slewing range +/- 156 degree
Self aligning home position with micro-switch indicator and
adjustable spring roller catch

Ob der Eck 4- D-78148 Gitenbach - Telefon (07723) 9186-0 - Telefax (07723)9186-30 2/15
DNR21606.DOC REV.01 ML103-01 MONITOR LIFT
06.10.2014 WWW.RURGMBH.DE INFO@RURGMBH.DE




R&R Ges. fiir Rationalisierung und Rechentechnik mbH

ML103-01 side view, stowed

Ob der Eck 4- D-78148 Giitenbach - Telefon (07723) 9186-0 - Telefax (07723)9186-30 3/15
DNR21606.DOC REV.01 ML103-01 MONITOR LIFT
06.10.2014 WWW.RURGMBH.DE INFO@RURGMBH.DE




R&R Ges. fur Rationalisierung und Rechentechnik mbH

Noise level in use at max. speed 1m distance

approx 62 dB-A (distance >1m) (full speed, load approx. 20kg)

The noise level depends on the mounting, speed, load and the cabinet!
Locking noises might be higher

ball screw drive for a smooth
travel

16mm diameter,

16 mm pitch,

corrosion protection: hicoat-2
lifetime lubrication

Ob der Eck 4- D-78148 Gitenbach - Telefon (07723) 9186-0 - Telefax (07723)9186-30 4/15
DNR21606.DOC REV.01 ML103-01 MONITOR LIFT
06.10.2014 WWW.RURGMBH.DE INFO@RURGMBH.DE




R&R Ges. fir Rationalisierung und Rechentechnik mbH

Linear guide way

1 x stiff linear guide ways

2 x short carriage SA
carriage distance selectable
corrosion protection: Hicoat-2
lifetime lubrication

2
- —

L
- -_—

—d|1 1l ¥ i . @
| ;"\itH:H!\_\"\HH»," a

T
Z
-
N =
z
>

Ob der Eck 4- D-78148 Gitenbach - Telefon (07723) 9186-0 - Telefax (07723)9186-30 5/15
DNR21606.DOC REV.01 ML103-01 MONITOR LIFT
06.10.2014 WWW.RURGMBH.DE INFO@RURGMBH.DE




R&R Ges. fir Rationalisierung und Rechentechnik mbH

el

motor controller

N

AN AR =

RR-P-545 see datasheet DNR20748

adjustable over-current shutdown running up
adjustable over-current shutdown running down

adjustable motor speed
one key operation

optional 2 key operation (depends on the program)

Foto Poti value

1 Bottom-End -

2 Top-End -

3 Speed up PWM 0..100%

4 Speed down PWM 0..100%

5 Current Up Shut down current 0..6A
6 Current Down Shut down current 0..6A
7 Delay 0...0.5s

Ob der Eck 4- D-78148 Gitenbach - Telefon (07723) 9186-0 - Telefax (07723)9186-30
DNR21606.DOC REV.01 ML103-01 MONITOR LIFT
06.10.2014 WWW.RURGMBH.DE INFO@RURGMBH.DE

6/15



R&R Ges. fir Rationalisierung und Rechentechnik mbH

Ob der Eck 4- D-78148 Gitenbach - Telefon (07723) 9186-0 - Telefax (07723)9186-30 7/15
DNR21606.DOC REV.01 ML103-01 MONITOR LIFT
06.10.2014 WWW.RURGMBH.DE INFO@RURGMBH.DE




R&R Ges. fir Rationalisierung und Rechentechnik mbH
=

B %

A

Power supply with shielding

Ob der Eck 4- D-78148 Gitenbach - Telefon (07723) 9186-0 - Telefax (07723)9186-30 8/15
DNR21606.DOC REV.01 ML103-01 MONITOR LIFT

06.10.2014 WWW.RURGMBH.DE INFO@RURGMBH.DE




R&R Ges. fir Rationalisierung und Rechentechnik mbH

-
-
- -
-

L AN

\\
A\

\\\\\\\\\\\".-':’ ~'
=

L /
Motor controller RR-P-545

With shielding

Ob der Eck 4- D-78148 Gitenbach - Telefon (07723) 9186-0 - Telefax (07723)9186-30
DNR21606.DOC REV.01 ML103-01 MONITOR LIFT

9/15
06.10.2014 WWW.RURGMBH.DE INFO@RURGMBH.DE




R&R Ges. fir Rationalisierung und Rechentechnik mbH

HE

244/ 88/ £220%01
72 D T

)
m

1>

2
LZ/00L/SZ D0V DYOL 2
ZH09/08 A0SZ/0L b

. 90-0L-0£0ZN4
© JBUddeHISINI | T

ML103-01 inline filter and rectifier

Ob der Eck 4- D-78148 Gitenbach - Telefon (07723) 9186-0 - Telefax (07723)9186-30 10/ 15
DNR21606.DOC REV.01 ML103-01 MONITOR LIFT
06.10.2014 WWW.RURGMBH.DE INFO@RURGMBH.DE




R&R Ges. fir Rationalisierung und Rechentechnik mbH

low noise toothed belt drive
low noise planetary geared brushless DC motor 60W

Ob der Eck 4- D-78148 Gitenbach - Telefon (07723) 9186-0 - Telefax (07723)9186-30 11/15
DNR21606.DOC REV.01 ML103-01 MONITOR LIFT
06.10.2014 WWW.RURGMBH.DE INFO@RURGMBH.DE




R&R Ges. fir Rationalisierung und Rechentechnik mbH

' ~manual override

k A .,'j

adestabIe top positioﬁ 2x stop pieces
adjustable down position 2 x stop pieces
Keep the stop pieces on the same level!

Manual override Wrench size 7

Ob der Eck 4- D-78148 Gitenbach - Telefon (07723) 9186-0 - Telefax (07723)9186-30 12/15
DNR21606.DOC REV.01 ML103-01 MONITOR LIFT
06.10.2014 WWW.RURGMBH.DE INFO@RURGMBH.DE




R&R Ges. fir Rationalisierung und Rechentechnik mbH

lift Interface: 25 pin sub-D male
Pin assignment

25pin sub-D connector male

7
@
OF ENABLE E
AB AC-LINE _% 1 (low active)
' I AGOUT 3 & AC-NEUTRAL |B
A (line if deployed) g_
stow-com |D
AC-SHIELD 3
AsB (PE-shield) _i 3_ STOWNG D
C ow active 1
((l)v E— % g’ stow-NO |D
C (COMMAND) a
7 SHIELD (sTOW) D
C (OPTION) (low active) -@ %
C SHIELD (COMMAND) »% %
s o
11 g
2
¢
1
vV
E| s 3/

A: monitor power supply
PIN 2 AC-Input, PINC 3 AC output to the monitor

B: lift power supply,
60W, 115V 50-800Hz

C: lift control
Connect PIN 5 and PIN 6 to a push button
Toggle function, start, stop, with direction change

D: stowed indicator

E: ENABLE
Connect PIN 13 to PIN 14 to enable the system

Ob der Eck 4- D-78148 Gitenbach - Telefon (07723) 9186-0 - Telefax (07723)9186-30 13/15
DNR21606.DOC REV.01 ML103-01 MONITOR LIFT
06.10.2014 WWW.RURGMBH.DE INFO@RURGMBH.DE




R&R Ges. fir Rationalisierung und Rechentechnik mbH

Software - Single button -

Button Lift status function
COMMAND deployed run down
running up or down stop
stowed run up
inbetween Run up or down

Always in the opposite direction
of the last action.

powering up Enter test run
Release the button as soon as
the lift is running.

test run stop

Approx. 25s per cycle

Option: two button software

Ob der Eck 4- D-78148 Gitenbach - Telefon (07723) 9186-0 - Telefax (07723)9186-30 14 /15
DNR21606.DOC REV.01 ML103-01 MONITOR LIFT
06.10.2014 WWW.RURGMBH.DE INFO@RURGMBH.DE




R&R Ges. fir Rationalisierung und Rechentechnik mbH

REV. DESCRIPTION DATE PAGES NAME
01 First Release 06.10.2104 | ALL P. Seewang
Ob der Eck 4- D-78148 Gitenbach - Telefon (07723) 9186-0 - Telefax (07723)9186-30 15/15

DNR21606.DOC REV.01 ML103-01 MONITOR LIFT
06.10.2014 WWW.RURGMBH.DE INFO@RURGMBH.DE




ANSICHT (VIEW)1 (1: 2 )

H
cL| .

ANSICHT (VIEW)3 (1:2) ANSICHT (VIEW)2 (1:2)

stop piece

: 0P ¢ ©F opP :
O A ~
o) ® iy
(0] O, (| ® O, (o)
(@) | O
(@) (@)
I@I
0) | 0)
' |
.@.
|
|
.@.
|
' I@I
|
| ©|
(@) (@)
(@) (@)
o©° , °o o
i‘
| I@I )
|
i
| 88,5
o i | =%
| 34,0
|
TENSION SPRINGS
DANGER OF INJURY
| (10)
o O
0 ©
~N—I—
D
ONONONON() O i
© 0 G S 0O '
o0 do 6
ne =
g/ o | L=y
=
13 ” weight 10kg
15 12 travel mechanical: 565mm
3124 travel nominal: 545

default stowed postion at 10
default deployed posiftion at 555mm

IDENTIFY PARTS IN ACCORDANCE WITH R&R INSTRUCTION DNR 20412

Alle Abmessungen in mm, falls nicht anders gekennzeichnet
(ALL DIMENSIONS ARE IN MILLIMETERS EXCEPT AS NOTED)

FUr diese Unterlagen behalten
wir uns alle Rechte vor (DIN 34)
(All rights reserved DIN 34)

Ges. fur Rationalisierung

1IS02768-m 0O mm

und Rechentechnik mbH
Ob der Eck 4 78148 Gitenbach

DATUM/DATE

NAME

e
ORIGINATOR
ERSTELLER

21.06.2014

A

CHECKED BY
KONTROLLIERT

15.09.2014

sk Mcimel

Norm

ML103-01 Baugruppe
(ML103-01 assembly)

2 Update 15.09.2014 P.Seewang
1 First Release 30.06.2014 P. Seewang DNR21589 1/8
ZONE REV. DESCRIPTION DATE NAME Al
REVISIONS REV. ANDERUNG / DESCRIPTION  |DATUM/DATE| NAME |
12 11 10 | 8 | | 5 | A | | 2 | 1




| 11 | 10 | 9 | 8 | 1 6 | 5 | L | 3 | 2 | 1
Em D (1
| \ [
Plﬂ:l | I|| | III I ] I ] I ] I T I T I T I T III III I T I I |I/
0 B0 B0 HH A A F N O 0 d E O 0=
’r
p
5 1 — 5 1 1T 7 T Y Y= Y4 S ey T a5 —r'ttgj'
o | L — \ \
| - /
g‘ - J I/I/ II UL\ f
/ /
@ wrench size 7
manual override i I B
2L
52,00
H(1:1)
312,4
wrench size 7 manual override
| m P T m|
e P = : oY = ———
Imm T Z_S ° @ 1 = T
[}
Lﬁ\ B ~
o @]
oo o \
o 0 [
O~
= |
E -
EH&' | | L II | III | | - | I || 1 Il 1 Il 1 Il |_|_|_|u| | | L II | III I_ II 1 i T | o
o ||
- - “ — = (o T o) _—l.l
(o]
'iIJ'I_TI_I'I_I'Illll ||I I I_I'I_I_l'll-l_l_ll I-I_I_ll I'I_I_ll I-I'I'Inl_l'l_l' ||I I ||I I ||_|_I_ I_I_I_
j—
250,00
IDENTIFY PARTS IN ACCORDANCE WITH R&R INSTRUCTION DNR 20412 Fir diese Unterlagen behalten
Alle Abmessungen in mm, falls nicht anders gekennzeichnet wir uns alle Rechte vor (DIN 34)
(ALL DIMENSIONS ARE IN MILLIMETERS EXCEPT AS NOTED) (All rights reserved DIN 34)
Ges. fur Rationalisierung 1IS02768-m =0 mm
und Rechentechnik mbH
Ob der Eck 4 78148 Gitenbach
E%?Eg%i 27.06.2014_|Ps /L/: ML103-01 Baugruppe
:::i:om{m 15.09.2014 | sk Gl (ML103—01 assembly)
2 Update 15.09.2014 P.Seewang 2/ 8
1 First Release 30.06.2014 P. Seewang DNR21589
ZONE REV. DESCRIPTION DATE NAME A1
REVISIONS REV. ANDERUNG / DESCRIPTION  |DATUM/DATE| NAME |
1 5 A | 2 | 1




12 11 10 | 8 | 1 6 | 5 L | 3 | 2 | 1
C-C(1:2) ANSICHT (VIEW)5 (1:2)
= =
700,00 o o 3 s o] o
j o O O h
o | o
|
647,25 oo o o | ° o
637,25 & i 5
621,25 O = D
o |
o | o
|
|
|
|
o) |
|
|
|
|
!
o |
|
|
|
|
|
|
" ° |
O |
n |
LN
LN |
|
|
| 5 50
367,85 1 ° | ,y¢/
357,85 & | 5
347,85 &0 | o &
|
|
o |
|
|
|
|
o |
o) |
|
|
| | |
|
|
|
P -
| ° !
0| | |O |
|
| |
D | i
|
| ﬁ o i
O , |
: @ | D ! ; q -)=
: o ° ! ( i q ©
O i | C © !
| |
44,00 P i ]
) (o] |I Iq o o (o]
34,00 Q i O | |
= 24,00 oo '
2 | ° |
0,00 = W ' O . O o )
WIS | ) @
| — i
' ko
O‘ m‘ [ O‘
(«>JERNs] m o
Q&
32,4
IDENTIFY PARTS IN ACCORDANCE WITH R&R INSTRUCTION DNR 20412 Fir diese Unterlagen behalten
Alle Abmessungen in mm, falls nicht anders gekennzeichnet wir uns alle Rechte vor (DIN 34)
(ALL DIMENSIONS ARE IN MILLIMETERS EXCEPT AS NOTED) (All rights reserved DIN 34)
Ges. fur Rationalisierung 1IS02768-m =© mm
und Rechentechnik mbH
Ob der Eck & 78148 Gutenbach
E%?Eg%i 2206200 fos /% IML103-01 Baugruppe
:l(;r?.:OLLIERT 15.09.2014 | sk Leanec (ML103—01 assembly)
Update 15.09.2014 P.Seewang 3/ 8
1 First Release 30.06.2014 P. Seewang DNR21589
ZONE REV. DESCRIPTION DATE NAME A1
REVISIONS REV. ANDERUNG / DESCRIPTION DATUM/DATE| NAME |
12 11 10 I 8 I 1 6 I B} A I I 2 I 1




12 | 11 | 10 | 9 |

| o]
:
(@)
;
:
:
:
:

extension spring length up to 2m G_-I ANSICHT (V|EW)6 ( 1: 2 )

constant spring force up to 138N

| vy
2 x_spring roller catch B-B(1:2) A——I max fop posifion
|
cable chain 2 x limit switch fop position I_— Bi 10

stop piece

/ o

o

06O
00O

2x limit switch bottom )

2 x eltromechanical spring cafch

bottom position |
adustable spring force

steel rail

|

6,00

00O

i
166

E - MAX TOP POSITION u

—

.@

) brushless DC motor
| | '@::]/ low noise coax drive
adjustable stop piece boftom ' -&- ﬁ‘/ grooved ball bearing
/
I i ol
|
}) Q\-‘o | '@:;] o d stop piece boftom
L
I ill
®\ . o | 1] %11
,@3\ N ' - L/ -
\50 § o ‘ o // Jc AN
d | L D
~ O I?I @ (o) 1
8 | =
_\ © © " © - compensating coupling

 PEEEEEEEEEDED] T T

RO
5,67 R ' \@

|
I 12 ,
14 13 belt tension screw
IDENTIFY PARTS IN ACCORDANCE WITH R&R INSTRUCTION DNR 20412 Fir diese Unterlagen behalten
Alle Abmessungen in mm, falls nicht anders gekennzeichnet wir uns alle Rechte vor (DIN 34)
15 26 (ALL DIMENSIONS ARE IN MILLIMETERS EXCEPT AS NOTED) (All rights reserved DIN 34)
low noise toothed belt Ges. fur Rationalisierung 1IS02768-m G@ mm

und Rechentechnik mbH
Ob der Eck 4 78148 Gitenbach

DATUM/DATE NAME

e
ORIGINATOR

st [27.00200 fos /% IML103-01 Baugruppe

CHECKED BY

konrroLLErT| 15.09.2014 | sk AcimaC (ML‘|03_01 assembIY)

Norm

2 Update 15.09.2014 P.Seewang
1 First Release 30.06.2014 P. Seewang DNR21589 L/ 8
ZONE REV. DESCRIPTION DATE NAME A1
REVISIONS REV. ANDERUNG / DESCRIPTION  |DATUM/DATE| NAME |

12 I 11 I 10 I 9 I 8 I L ﬁ 6 I B I L I I 2 I 1




12 | 11 | 10 | 9 | 8 | 1 6 5 L | 3 | 2 | 1
A-A (1:2)
fwo carriages @ swivel, stiff plain beari
, plain bearing
30,00 up fo 200Nm in use G-G ( 1:72 )
!
| .
\\ ) _|_,J‘ swivel with adjustable roller spring catch .
b | 4
@\ O power supply /{/ ©
T~ N ® o ® (o)
- o Y | /
S o 9
~ [e®)
|
N 2 x adjustable spring catch L .
|
P |
Nas inline filter
6
P linear guideway, rail length up to 4000mm, light preload /\/
2 x block SA Cdyn 7#230N, Co-12740N weight 0,15kg Mx=7#3Nm, My=34Nm, Mz=73Nm, static 130Nm, 60Nm, 60Nm !
29 k=116 %
optional |
1 2 x block CA Cdyn 10310N, Co=21130N weight 0,24 kg Mx=107Nm My#8Nm, Mz#8Nm staftic Mx=220Nm, My=160Nm, Mz=160Nm /‘/
dynamic load for 50.000m travel path //‘é
Rigidity k [N/pm], operating load P [N], /
d= P/k ?//
EG20S k=116 N/pm /
= example /
lever = 500mm /E/
load= 200N (1g in any direction)
P = 500/85 = 200N= 1176N |
d= 1176/116 pm= 10pm !
- d'= 500/85 x 10pm= 58pm = 0,058mm ,
|
o
= //‘Cj=g
P
|
IDENTIFY PARTS IN ACCORDANCE WITH R&R INSTRUCTION DNR 20412 Fir diese Unterlagen behalten
Alle Abmessungen in mm, falls nicht anders gekennzeichnet wir uns alle Rechte vor (DIN 34)
(ALL DIMENSIONS ARE IN MILLIMETERS EXCEPT AS NOTED) (All rights reserved DIN 34)
Ges. fur Rationalisierung 1IS02768-m =0 mm
und Rechentechnik mbH
Ob der Eck & 78148 Gutenbach
E%?Eg%i 2206201 fos PZ IML103-01 Baugruppe
:l(;r?.:OLLIERT 15.09.2014 | sk LcineC (ML103—01 assembly)
2 Update 15.09.2014 P.Seewang 5/8
1 First Release 30.06.2014 P. Seewang DNR21589
ZONE REV. DESCRIPTION DATE NAME Al
REVISIONS REV. ANDERUNG / DESCRIPTION  |DATUM/DATE| NAME |
12 I 11 I 10 5 A I I 2 I 1




E - MAX TOP POSITION (1: 2 ) F({1:2)MAX TOP POSITION

553,7

D D l_(E7—||l_ll #% l_lll_lu\l
Q P [o° °
° © _© o 9 0
: (10) ° & {;
rd | c -
o © o ol l lal og4
o | o
| o
O 00 ° o |
o | o
: .I_C
. |
@@ 1 o oif
© |
|
|
|
o |
|
|
: !
= |
- o
E |
“4— |
!
= ° |
|
o) | o)
(@) i O
o©° | ° o
|
|
o |
|
|
|
|
(o) (o) !
|
|
|
|
|
B olNe |
| |
D I
' |
== | o |
| |
| |
| |
D | |
(o) I i
|
() |
D I !
o o !
8,50 o :LEB_C ;
o, 0 i
L o |
o
e

IDENTIFY PARTS IN ACCORDANCE WITH R&R INSTRUCTION DNR 20412 Fir diese Unterlagen behalten

Alle Abmessungen in mm, falls nicht anders gekennzeichnet wir uns alle Rechte vor (DIN 34)
(ALL DIMENSIONS ARE IN MILLIMETERS EXCEPT AS NOTED) (All rights reserved DIN 34)

Ges. fur Rationalisierung IS02768-m +=0© mm

und Rechentechnik mbH
Ob der Eck 4 78148 Gitenbach

DATUM/DATE NAME

e
ORIGINATOR

st f27.00200 fos /7 IML103-01 Baugruppe

CHECKED BY

kontroLLierT] 15.09.2014 | sk /cmfvw-i_ (ML‘|03_01 assembly)

Norm

2 Update 15.09.2014 P.Seewang
1 First Release 30.06.2014 P. Seewang DNR21589 6/ 8
ZONE REV. DESCRIPTION DATE NAME A1
REVISIONS REV. ANDERUNG / DESCRIPTION  |DATUM/DATE| NAME |
I 10 | I 5 A I I 2 I 1




11 | 10 | 9 |

| o]
:
(@)
;
:
:
:
:

ANSICHT (VIEW)9 (1:2)

s [ STe g |

~ 1¢ = | GR

SR T jremme 5o

(A\E%, ) ::5" Al A i nﬁ:: L [‘”F'%.

< !ﬁ- : ..jl | i
\“IL JI -I J J)

& O

540,00
543,71
nominal travel 540,0

00O
00O

3 (®)
- —_—
O

> F@
o
o)} O] O
IDENTIFY PARTS IN ACCORDANCE WITH R&R INSTRUCTION DNR 20412 Fir diese Unterlagen behalten
Alle Abmessungen in mm, falls nicht anders gekennzeichnet wir uns alle Rechte vor (DIN 34)
(ALL DIMENSIONS ARE IN MILLIMETERS EXCEPT AS NOTED) (All rights reserved DIN 34)
Ges. fur Rationalisierung 1IS02768-m =0 mm
und Rechentechnik mbH
Ob der Eck & 78148 Gutenbach
_ DATUM/DATE NAME
EE'@?EQEE 27.06.201k_Ps /(/:/5 ML103-01 Baugruppe
:l(;r?.:OLLIERT 15.09.2014 | sk Acinmel (ML103—01 assembly)
2 Update 15.09.2014 P.Seewang 7/ 8
1 First Release 30.06.2014 P. Seewang DNR21589
ZONE REV. DESCRIPTION DATE NAME A1
REVISIONS REV. ANDERUNG / DESCRIPTION  |DATUM/DATE| NAME |
12 11 I 10 I 9 8 I B} L I I 2 I 1




| 1 | 6 | | 3 | 2
TEILELISTE (PARTLIST)
OBJEKT BAUTEIL(PART) BESCHREIBUNG DESCRIPTION MATERIAL MASSE (weight) | ANZAHL (QUANTITY) | LANR (PARTNUMBER) NAME REMARK
1 DNR21531 ML102 Raststiick ML102 stop piece Aluminium - 5083 AlMg4,5Mn0,7 0,022 kg 4 16336
2 NF E 25-107 - M4 x 12 Schrauben. Senkkopf Torx. Produktklasse A. Symbol FX COUNTERSUNK HEAD TORX SCREW M4 x 12 Stahl, weich 0,001 kg 8 11288
3 Zahnriemen_HTD-3M-15_z75 Zahnriemen_HTD-3M-15_z75 toothed belt HTD-3M-15_z75 Generisch 0,000 kg 1 16373
4 DNR21590 ML103 Montageplatte ML 103 mounting panel 1,664 kg 1 16459
5 DNR21594 ML 103 Baugruppe Profil-Schiene ML103 assembly rail 0,035 kg 4 16524
6 DNR21596-02 Profilschiene EGH20SA-2-R700-Z0-H-CZS Baugruppe 2x Laufwagen slide EGH20SA-2-R700-Z0-H-CZS assembly 2,003 kg 1 16420
7 DNR21602 ML103 Baugrupppe Getriebemotor ML103 assembly geared motor unit 0,537 kg 1 16519
8 DNR21603 ML103 Halterung Zugfeder rechts schwarz ML103 extension spring bracket right black 0,021 kg 1 16502
9 Zylinderschraube I-6rund NF E 25-111 - M5x10 Festigkeitsklasse 4.8 A2 Zylinderkopf Sechslappiger Senkkopf - Produktklasse A - Symbol CZX six lobe drive head bolt -M5x10 Festigkeitsklasse 4.8 A2 Edelstahl 0,003 kg 4 11353
10 DNR21679 ML103-01 Baugruppe Wagen ML103-01 assembly carriage 4,427 kg 1 16520
11 dnr11777 Nutenstein Mini M4 slot nut M4-Mini 0,002 kg 4 6748
12 DNR21610 ML103 Kabelblech ML103 cable bracket 0,110 kg 1 16454
13 DIN 9021 - 4,3 A2 Unterlegscheibe Washer DIN 9021 - 4,3 A2 Edelstahl 0,001 kg 7 15075
14 Zylinderschraube I-6rund NF E 25-111 - M4x8 Festigkeitsklasse 4.8 A2 Zylinderkopf Sechslappiger Senkkopf - Produktklasse A - Symbol CZX six lobe drive head bolt -M4x8 Festigkeitsklasse 4.8 A2 Edelstahl 0,002 kg 6 11346
15 Z08_30_028_02 Energiekette 080.030.12P AnschluRelement cable chain 080.030.12PZ mounting bracket Generisch 0,006 kg 1 16407
16 Z08_30_028_03 Energiekette Z08 Breite 30 Radius 028 energy chain Z08 width 30 radius 028 Generisch 0,004 kg 23 16408
17 DNR21474 Stecker D-SUB 25polig Kabelgehause Metall D-SUB 25 pin cable housing metal Allgemein 0,024 kg 1 6973
18 dnr18532 Stecker D-SUB Stiftleiste 25-polig Létkelch Allgemein 0,003 kg 1
19 DSUB-Verschraubung_Bolzen DSUB Verschraubung Bolzen D-Sub plug screw Messing (weiches, gelbes Messing) 0,001 kg 2
20 DSUB-Verschraubung_Mutter DSUB Verschraubung Mutter D-Sub plug nut Messing (weiches, gelbes Messing) 0,000 kg 2
21 NF E 25-107 - M3 x 8 Schrauben. Senkkopf Torx. Produktklasse A. Symbol FX COUNTERSUNK HEAD TORX SCREW M3 x 8 Stahl, weich 0,000 kg 4 11278
22 Zahnriemen Zahnriemen 3M-15 Wirklange 225mm z=75 dented belt 3M-15 length 225mm z=75 Rubber 0,007 kg 1 16373
23 Zylinderschraube I-6rund NF E 25-111 - M4x10 Festigkeitsklasse 4.8 A2 Zylinderkopf Sechslappiger Senkkopf - Produktklasse A - Symbol CZX six lobe drive head bolt -M4x10 Festigkeitsklasse 4.8 A2 Edelstahl 0,002 kg 2 11347
24 DNR21598 ML103 Baugruppe Kugelgewindetrieb ML103 assembly ball screw drive 1,455 kg 1 16521
25 Zylinderschraube I-6rund NF E 25-111 - M5x25 Festigkeitsklasse 4.8 A2 Zylinderkopf Sechslappiger Senkkopf - Produktklasse A - Symbol CZX six lobe drive head bolt -M5x25 Festigkeitsklasse 4.8 A2 Edelstahl 0,005 kg 6 11357
26 Zylinderschraube 1-6rund NF E 25-111 - M4x40 Festigkeitsklasse 4.8 A2 Zylinderkopf Sechslappiger Senkkopf - Produktklasse A - Symbol CZX six lobe drive head bolt -M4x40 Festigkeitsklasse 4.8 A2 Edelstahl 0,005 kg 1 12520
27 DNR21740 ML103 Halterung Zugfeder links schwarz ML103 extension spring bracket left black 0,021 kg 1 16505
28 DIN 125-A4;3 Unterlegscheibe Stahl, weich 0,000 kg 1 7495
29 Zylinderschraube I-6rund NF E 25-111 - M5x12 Festigkeitsklasse 4.8 A2 Zylinderkopf Sechslappiger Senkkopf - Produktklasse A - Symbol CZX six lobe drive head bolt -M5x12 Festigkeitsklasse 4.8 A2 Edelstahl 0,003 kg 12 11354
30 DNR21293 Kabelschuh M4 Crimpseal |l Ringerverbinder AWG16-14 Ring Connector M5 Crimpseal || AWG16-14 Generisch 0,000 kg 1 6115
31 DIN 6797 - A 4,3 Zahnscheibe lock washer DIN 6797 - A 4,3 Edelstahl 0,000 kg 1 551
IDENTIFY PARTS IN ACCORDANCE WITH R&R INSTRUCTION DNR 20412 Fir diese Unterlagen behalten
Alle Abmessungen in mm, falls nicht anders gekennzeichnet wir uns alle Rechte vor (DIN 34)
(ALL DIMENSIONS ARE IN MILLIMETERS EXCEPT AS NOTED) (All rights reserved DIN 34)
Ges. fur Rationalisierung 1IS02768-m =0 mm
und Rechentechnik mbH
Ob der Eck & 78148 Gutenbach
_ DATUM/DATE NAME
s 12700200 os /7 IMI103-01 Baugruppe
controer] 15.09.201 | sk Acamac
o (ML103-01 assembly)
2 Update 15.09.2014 P.Seewang T
1 First Release 30.06.2014 P. Seewang Stuckliste DNR21622 DNR21589 8/ 8
ZONE REV. DESCRIPTION DATE NAME L#16523 A2
REVISIONS REV. ANDERUNG / DESCRIPTION  |DATUM/DATE| NAME |
[ 7 [ 3 | A [ 3 [ 7




12 | 11 10 | 9 | 8 | 1 | | 3 | 2 | 1
DNR21422 Monitor support structure weight approx. 3kg B-B ( 1:2 )
H ANSICHT (VIEW)4 (1:2) 1317
B ——I 86,00
a
: 0.0 ® 1 n ) o0l ANSICHT (VIEW)1 (1:2)
r-r o 4 1 m a li D 0" N\ 7800
I y
_ _ ' 19,00 u
|| 8,00
|
|
G 3
o
Al |
|
|
o |
O~
S <,
AN =g
F | 3
118, 4
— |
©
, 641,00 |
] ©
m~
—_— =] I :
LN M~
N
-
© | A
E ()
ik I
30,00 o
11,50 NS cable gap
: | el
© \ ) | 1
©@ @ © - @ @ @ @ © © © @ " @ © @ @ @ @ 88 5 '
| [ 1 [ @\ 30,00 /@
! o
o
| @ . CH e 5
(0) O) o) =|s B { \
’ P A : © b ~1 s
O o o%if C . O = S
] o
< © of 0 > N a1 ©
= —— 2| %
O 0| I 8
] (NONOHONON() ‘
©o6lo68 \
___ © 00008
— I i
rhu— —_; ® — u
: it Ol He =|F7
A
|
54,50
B I 137,8
' system weight approx. 36kg
+ monitor + leather hood (15,4 + 4.6kg = 20kg)
- + lift mechanism +
ANSlCHT (V”':WB ( 1 X 2 ) . . monitor support structure +
A wrench size 7 monifor + r.lo.ocl weight: approx. 18,0 kg Distance piece +
= 2 00 hood not visible cable chain + cable (= 15,4kg)
S L1 2 Update 15.09.2014 P. Seewang
B N} —"5 i {"—h 1 First Release 30.06.2014 P. Seewang
ZONE REV. DESCRIPTION DATE NAME
Py REVISIONS
®
- IDENTIFY PARTS IN ACCORDANCE WITH R&R INSTRUCTION DNR 20412 Fir diese Unterlagen behalten
g _|_|.-.: carriage Akg Alle Abmessungen in mm, falls nicht anders gekennzeichnet wir uns alle Rechte vor (D|N 34)
N o in total 22kq = 215N (ALL DIMENSIONS ARE IN MILLIMETERS EXCEPT AS NOTED) (All rights reserved DIN 34)
— |J! In tora 9= - - —
R - - - - - - " — """ " "-—"> "> > "">">"—-—-—-H"-"—-—->+ -~-H}?"/-"— > H:<GV—W Y -7 - - == 1 T Ges. fur Ra’rlonal|5|erung |SOZ768—|T] G@ mm
| und Rechentechnik mbH
! Ob der Eck 4 78148 Gutenbach
] ] T ! T B _ DATUM/DATE NAME ML103-01 Baugruppe mit Monitor und
= : = o Doosaow Jos /7 IHalterung DNR 21422
| oo 100900 sk Lebnet (M1 103-01 assembly with monitor with
A support DNR21422)
DNR21621 1/
REV. ANDERUNG / DESCRIPTION DATUM/DATE] NAME I
12 | 11 10 | 9 I 8 I L ﬁ I I I 2 I 1




11 | 10 | 9 |

| o]
:
(@)
;
:
:
:
:

ANSICHT (VIEW)5 (1:2)

L 00 328,00
A(1:2) S
Qi"‘
100,00 [al =l
18,00 ' ooo (o o ° 9 ooo
o O O
_F ° o
B 641,25 o0 o o ° o
637,25 o o
621,25 o )
o]
o o
(o]
166,00
o
o
o
<
N
o) <
@520
367,85 | ) © U—
357,85 & S
341,85 oo 20
o
° o
=l
o]
O C
° =
O — o
o o I
5,02 > < q
—_ c
(o) (o)
o1=r=lo I
() ;
D
B 44,00 o |:! o o [§= o
. 34,00 olmmmie Y ﬁ
© FE 24,00 o—o 5
| . 000 | o o O o |
‘ | } ! ©
LI=E : . J1H — 1 C
: 2 m
o = R
18,7 \
=
o T M~ o
S m o o
(«>2EVs} m o
m
NS
~312 IDENTIFY PARTS IN ACCORDANCE WITH R&R INSTRUCTION DNR 20412 Fir diese Unterlagen behalten
Alle Abmessungen in mm, falls nicht anders gekennzeichnet wir uns alle Rechte vor (DIN 34)
(ALL DIMENSIONS ARE IN MILLIMETERS EXCEPT AS NOTED) (All rights reserved DIN 34)
Ges. fur Rationalisierung 1IS02768-m =© mm
und Rechentechnik mbH
Ob der Eck & 78148 Gutenbach
_ DATUM/DATE NAME ML103-01 Baugruppe mit Monitor und
s 100000 fos /% |Halterung DNR 21422
o B0V ek keamet (M 103-01 assembly with monitor with
support DNR21422)
2 Update 15.09.2014 P. Seewang 2 /3
1 First Release 30.06.2014 P. Seewang DNR21621
ZONE REV. DESCRIPTION DATE NAME A1
REVISIONS REV. ANDERUNG / DESCRIPTION DATUM/DATE| NAME |
12 11 I 10 I 8 I 6 I 5 I A I I 2 I 1




ANSICHT (VIEW)6 (1:2) ANSICHT (VIEW)? (1:2) ANSICHT (VIEW)8 (1:2)

520,4

I
I
)|
1
]

jg(
[OWNO]

i (©) © () (©) i © @ © i i
0.0 00 Ta o o 1)
J7/A5 O, ® /_ 2 ° o O (@] ©
(o] f (o]
o O © o © 97 . o o & ol
6 3 {14 ¢
N 0 0
o o
< g O © O o o
g .I q
] © ©|0® o o [e 1
| J 372,
[ | O
9 o :
|
|
.@. o
|
|
|
®) (o]
0 @ o o 0
o | o o 0o
o ©° | ° o oo °© o
@ o
|
|
|
@ ° o
|
|
o =‘=Q§| =i = o
| ] 5| | C
|
i D
© = = | o
|
| I D
+ = S| °
(@ D c (o]
| | o o
© d | =L I o D o o
: | E 0 L.
d @ ,@ % BB o o o o
@ @ | — | . O
ol ol o — o il@lllﬂr ‘ ‘:
=t I

IDENTIFY PARTS IN ACCORDANCE WITH R&R INSTRUCTION DNR 20412

Alle Abmessungen in mm, falls nicht anders gekennzeichnet
(ALL DIMENSIONS ARE IN MILLIMETERS EXCEPT AS NOTED)

Fur diese Unterlagen behalten
wir uns alle Rechte vor (DIN 34)
(All rights reserved DIN 34)

Ge;. ;Utha:iorr:al':(SieLang 1ISO02768-m G@ mm
und Rechentechnik m
TEILELISTE (PARTLIST) Ob der Eck 4 78148 Giitenbach
OBJEKT BAUTEIL(PART) BESCHREIBUNG DESCRIPTION MATERIAL MASSE (weight) | ANZAHL (QUANTITY) | LANR (PARTNUMBER) NAME REMARK er tc urenbac
1 DNR21589 ML103-01 Baugruppe Motorlift ML103-01 assembly motor lift 10,878 kg 1 16523 . DATUM/DATE NAME ML103-01 Baugruppe mit Monitor und
2 |DNR21422 ML101 Baugruppe Monitorhalterung ML101 assembly monitor mounting 3,340 kg 1 16265 EE’%{Q{ 30062016 ps /% Halterung DNR 21422
3 Zylinderschraube I-6rund NF E 25-111 - M4x16 Festigkeitsklasse 4.8 A2 Zylinderkopf Sechslappiger Senkkopf - Produktklasse A - Symbol CZX six lobe drive head bolt -M4x16 Festigkeitsklasse 4.8 A2 Edelstahl 0,002 kg 8 11349 kowreotueer] 15.09.2014 | sk Acimad (ML103—01 assembly with monitor with
4 DNR21337 LCD 30-inch Jet-Aviation LCD 30-inch Jet-Aviation Aluminium 6061 18,000 kg 1 Norm y
5  |ANSIB18.3 - Nr. 8- 32 UNC - 1/2 HS HCS Innensechskantschraube Stahl, weich 0,005 Ib 8 = == support DNR21422)
2 pdate 15.09.2014 . Seewang Stiuckliste DNR21783
1 First Release 30.06.2014 | _P. Seewang DNR21621 3/3
ZONE REV. DESCRIPTION DATE NAME A0
REVISIONS REV. ANDERUNG / DESCRIPTION DATUM/DATE| NAME |
T [ T T | T3 7 | ik [ ] [ 9 B [ 7 [ 3 [ 5 [ A [ 3 | 7 | 1




